FIRST TERM EVALUATION 2023 - 2024

A MATHEMATICS MM - ANSWER KEY 1003
Qn Key Score
no.
1 2@ 4 UeE@R8S BIBEI BalIB(EIBIMIo 2 MIBH:3@ nilmo . ( Answer any 3 )
aj3,6,9,... or any correct answer 1
1 2
b) 30 or any correct answer 1
9" = 81 1
2 2
80} auveawileong alge = 9 — 2 = 7 al. 1
a) 9
3 3 1 1 2
b) - = =
) 9 3 1
2fl(@@BIN @3 O AOTES: (BN afOMSIOMIMB, ( Not given in the question)
4 0
a) 60 1
60’ ?
b) - = 30’ 1
) > 30
5 m3@d 10 cuee@sSs 696 Galdr(@mIMe 3 MIEH:2@ nllm. . ( Answer any 4 )
5 |a) 19 1
b) 103 = 4+ 99 =4 + 33 X 3 =4 + 33d 1 3
103 o gesmlmilesl alcmoen . 1
6 |a) x(x+8) = 384 1
b) x* + 8x + 4° = 384 + 4° 1
3
(x + 4 = 400 ==> x+4 = /400 ==> x = 20 — 4 = 16
muoeuidud = 16 , 24 1
10 5 1
b) > 1| 3
10
6
C) 11 1
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8 | 4 eav.0l.GREMSS QYO UEDILMNS: . 1
QIO BB (MBS @3 120° , 160° B IEMIBUD 0 §)SIOMND> . 1
(@NEB26Mo UEWIBNS: . 1

9 ) 30 X 31 _ 465 1

2
1
b) 2 X 465 = 930 1
o 930 + 30 X 3 = 1020

10 (a) 6 eu.al. 1

b) PA X PB or 16 X 6 = 96 1
96 1

¢ PC = 3 = 12 eau.adl.

11 2y @3 21 uerE@SSs B8 @2193(OTIMIe 4 MIEH:9@ aflmo . ( Answer any 8 )

|, 2 1
3
1 9 1
b) = = —
) 3= %7
ala|MOTORHBIOS nG)§Re = I 1
9
9 3 1
12 | = 2L*37 _ o 2
2
b) 58 1
¢ 13 X 29 = 377 1
13 |a) 40° 1
b) 100° 1
c) 50° 1
d) 130° 1
14 24 1
=2 =12
a) >
b) 12 — x 1
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¢ x(12 — x) = 35
12x—x*=35 ==> xX*—12x=-35 ==> x*—12x+6°=—35+ 6"
(x —6°=1=x-6 =41 ==>x=1+6=7

mlsoe = 7 eau.adl. , allwl =5 equ.al.

15

a) VPA X PB = /15 eau.dl.

b) @rdwalom. / alome ue@eanmM@Ia .
QIPAVEBINT RloeNIAIWI] MAEILI (DI BBIMOMIOHTY AUUBo NIETH6)
on@laj .

VA ER(ONEH:36Mo al}@@BIIBN M@ .

16

a)2,7,12, ...
b) 25 (122 = 2 + 120 = 2 + 24 X 5)

c) %(2 + 122) = 1550

17

a) 12 eau.dl.
b) 13 — x
¢ (13 — x)x =12 X 3

PB = 9 eau.adl. ceg)s;lad PB = 4 eau.al

18

a) x + 4x = 221
b) x* + 4x + 22 =221 + 2°
(x + 2> = 225
x+2 = 225 ==> x =15 — 2 = 13

€) 13 X 13 = 169 aLequ.d.

19

a) 240

b) %(100 + 240) = 2550

20

a) 105°
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b) 110° 1

c) 75 1

d) 105° 1

21 [a) x, = 39 1
ope = 15 X 39= 585 1

2

b) 3 X 15 = 45

22 23 @d 29 iee@}8S 6398 @21dB(OIIMIe 5 MIEH:9@ aflmo . ( Answer any 6 )

22 |a) 60 X 50 = 3000 1
b) 30 X 20 + 30 X 30 _ 1500 _1
3000 3000 2 1
0 30 X 30 _ 900 _ 3
3000 3000 10 1
D1 Zam T :
23 2l USRI . 1
Ml8eomIasIqje Al &35l ue@eam@) . 1
@PABWAO™o / AUYDIMo UEEIENMM@IY . 1
QIPAVOBINY RloeNIAIW] MVAGREODIOAR AUURo AUEENMMIAT . 1
MUY al3@ODTIWISN M@ . 1
24 |a) 4n + 3 1
b) 3 1
¢) (4n + 3 = 16n> + 24n + 9 2
0D GUAMIWINAI nIBEERSIONS UBUIEEROS OaldMINU(DIIMIo OBIENE
aN@loJo@d 153 wBlatise 1 @RENY . 1
25 |a) \/132 — 5 = 12 eau.d. 1
b) V152 — 122 = 9 eau.dl. 1
1

¢) PA X9 = 12°
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1 5
PA = 16 eau.al
1
AB = 16 + 9 = 25 eau.al.
26 |a) 8 1
b) 248 1
248 — 8 1
-1 = = 60
¢ n 4 5
n = 61 1
d) ﬂ(8 + 248) = 7808
2 1
27 |a) 50° 1
b) 65° 1
c) 35° 1|5
d) 30° 1
e) 80° 1
28 (a) x, = 5 1
b) x,+ x, =2 X 2"+ 3X 2 =14 1
d = 4 1
C) 4n + 1 1 5
d 2 X 25° + 3 X 25 = 1325 1

or 25 X x,, = 25 X 53 = 1325

29

@nlle:@la] 2184 O a10i@iSlg) }

{2 =1 ag)(MN @RUIWo DMINUOHEWIBS ald0ERINEBEIG3 ag)nilersalo
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